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SERIE 2

Exercici 1
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Exercici 2
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b)

z =(abcd)+(al_)cgl)+(E/l_)cd)+(5bca)+(5bcd)+(05cd)

simplificant: z=abd+bcd+ac
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Exercici 3
a)

E =P t, +P,(t—t,)=1250 Wh=4500k)

cons

b)

r:ﬂﬁam:%%

c)

Couns = EvonsPounts =0,4287€
Coatt = EconsPoay =0,2712 €

d)

€, =(Couna —Coan )1 12=18,90€
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Exercici 4
a)
27
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o=—2= =-8,727rad/s’
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b)

1
P=0, +coot+§ozt2 =15,71x10%rad

n= P _ 2500 voltes

2T
c)

E,. :%I(a); - @} )=123,4k)

Exercici 5

a)

b)

> M(0)=0 — Tcos(30)2L—mgcos(30)L=0 —>T = mT: 245,2 N
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c)

ZFhoritzontals =0 - TCOS(3O)—FH =0 FH :T\/§/2 :212,3N
ZFvemca,S =0 — Tsin(30)-mg+F, =0 | F,=3mg/4=367,8N

d)

F:T%:SS,IB Nm

Exercici 6
a)

R1 RZ R3
— HC H

b)
R., = 1 =37,5Q
eq 1 i
R, +R,+R, R,
c)

I:£=6,l33A; P:U—:1,411 kW

eq eq



